SPACE NEEDS WORKSHEET

INSTRUCTIONS:	Fill in or check off all shaded wor	ksheet cells.	
DESIGN POPULATION			
Projected resident population			7,780
Nonresident service population			58
Design population		· · · · · · · · · · · · · · · · · · ·	7,838
COLLECTION SPACE			
Books: The space needed for the library's parameters of the shelving environme height of the shelving, book collection volumes housed per square foot increshelving will grow, and there will be fer a How many volumes will be in the	ent. Depending on factors such a as can be housed at 10, 13 or 15 wases, the average aisle width will ewer opportunities for marketing	s the width of the ais olumes per square f decrease, the heigh	sles and the oot. As the
* What is the library's preferred or	collection density? (choose one)		10 volumes per sq.ft.
			13 volumes per sq.ft.
		X	15 volumes per sq.ft.
Magazine / newspapers: The Americans w magazines is subject to height limitati * How many titles will the library	ons, which conditions how much	space magazines wil	_
Magazine backfile: Shelving for any back i but many libraries choose to treat the * How many of those titles will th * What will be the average backr	se holdings in the same manner. ne library retain in backfiles?		imitations 0 0
Nonprint: This collection will often be how these items are typically smaller than The space need varies depending on a * How many nonnprint items will	ised on lower shelving with more books, the collection density cor iisle widths, marketing display, ar	marketing display, b	out because
* What is the library's preferred o			10 items per sq.ft.
, ,	, , ,		13 items per sq.ft.
			15 items per sq.ft.
Public access computers: Many libraries to information resources, which affects to can also affect the inventory needed. stations provided: a small inventory will benefit from economies * How many public access computer * What is the preferred space allowed.	the number of stations needed for The space need per station will be will usually require more space per sof scale and less space per station uters to provide?	or the public. Wirelesson affected by the number station while a largon.	ss access Imber of
			50 sq.ft. per station
			Joo sq.it. per station

•	eader seats a library needs is determined in large measure by the numbe though other factors may also affect this inventory. Typically allow 30 sq many reader seats should the library provide?	uare feet per seat.
AFF WORK SPACE		
the number of pu affected by the n station while a la	staff work stations is based on the specific operations and work routines ublic service desks, and so on. The space needed for each station, on average of work stations a library needs: a small inventory will require more inventory will need less space per station. many staff work stations are needed?	rage, will be ore space per
* What	is the preferred space allocation for each? (choose one)	140 sq.ft. per station 150 sq.ft. per station
ETING ROOM SPA		
Multi-purpose:	How many seats to accommodate in a multi-purpose room?	75
Conference:	How many seats to accommodate at a conference table?	12
	How many seats in a gallery?	
Storytime:	What is the maximum audience for a typical storytime?	20
	Do your storytimes include a craft of activity? (choose one)	x Yes No
Computer trainii	ng lab: How many trainees should be accommodated?	0
CIAL USE SPACE		
café or refreshm allocation here re architectural plan	e reserves space for features such as small group study rooms, a copy cer ent area, a used book sale area, a staff break room, and so on. A larger peserves the option to incorporate a wider array of special use functions an is developed. se the library's preferred allocation for special use space	roportionate
café or refreshm allocation here re architectural plan	ent area, a used book sale area, a staff break room, and so on. A larger peserves the option to incorporate a wider array of special use functions an is developed. se the library's preferred allocation for special use space	roportionate s a specific . x 12% of gross area 15% of gross area
café or refreshm allocation here re architectural plan * Choo * Choo Newssignable sp stairwells and ele for nonassignable New construction	ent area, a used book sale area, a staff break room, and so on. A larger peserves the option to incorporate a wider array of special use functions an is developed. se the library's preferred allocation for special use space	roportionate s a specific . x 12% of gross area 15% of gross area 17% of gross area strooms, its gross area

ADDITIONAL ALLOWANCES

As an option, this worksheet can accommodate additional special allowances for features that i	nay or may
now be adequately accommodated in the preceding calculations. These may include space for	an automated
materials handling system, or a garage (if the library owns and operates vehicles). List any such	special
features here, along with a suitable square foot allowance	
	Allowanco

	Allowance	
		sq.ft.

SPACE NEEDS SUMMARY				
COLLECTION SPACE				
43,689 volumes to house at	15 vol/sq.ft.	2,913 sq.ft.		
58 magazine display at	1 sq.ft./title	58 sq.ft.		
0 magazine backfile at	0.5 sq.ft./title/yr held	0 sq.ft.		
5,164 nonprint items to house at	15 items/sq.ft.	344 sq.ft.		
12 public access computers at	35 sq.ft. per station	420 sq.ft.		
READER SEATING SPACE				
62 reader seats at	30 sq.ft. per seat	1,860 sq.ft.		
STAFF WORK SPACE				
6_ staff work stations at	125 sq.ft. per station	750 sq.ft.		
MEETING ROOM SPACE (See notes 1 through 4)				
75 multi-purpose seats	10 sq.ft. per seat	850 sq.ft.		
12 conference room seats	30 sq.ft. per seat	360 sq.ft.		
20 storytime seats	15 sq.ft. per seat	350 sq.ft.		
0 computer training lab seats	50 sq.ft. per seat	0 sq.ft.		
SPECIAL USE SPACE				
calculated at 12% of gross building area		1,506 sq.ft.		
NONASSIGNABLE SPACE				
calculated at25% of gross building area		3,137 sq.ft.		
SPECIAL ALLOWANCES				
		sq.ft.		
GROSS AREA NEEDED		12,547 sq.ft.		

NOTES

- 1. Multi-purpose room area includes a modest allocation for a speaker's podium.
- 2. Conference room area includes allocation for gallery / audience seating, if so designated.
- 3. Storytime area includes a modest allocation for storytime presenter.
- 4. Computer training lab area includes a modest allocation for trainer's station.